778198 - EPK 16 D CD-ID: Narex CZ 2016 _v14r01

10.8.2016 Stranalz3



778198 - EPK16 D

CD-ID: Narex CZ 2016_v14r01

Pozice |Polozka M noZstv Nazev Typ Poznamka :oﬁ:;oi‘:(:i
1 66591757 1 | Tésnici krouzek EPK 16
2 66623710 1 | LozZisko 629 A 4T1X ZZ* MC5 E
3 767144 1 | Rotor s kolem EPK 16
4 66623896 1 | LozZisko 627 TIX ZZ1 MC5 E
5 66591263 1 | Vyrov.podlozka MP 050
6 66591242 1 | Vyrov.podlozka MP 050
7 66593471 1 [Vzduchov.vlozka MP 050
8 614776 2 | Sroub PT KL 40x60 615282
10 66625504 1 | Vymez.podlozka EPK 16 D
11 66406530 1 | Stator vinuty EPK 16
13 622890 1 | Motorova skfin EPK 16 620266
14 614857 4| Sroub M4x30
15 66620258 1 | Vicko kartace MR 058.10 594562
16 66620259 1| Vicko kartace MR 058.10
17 614778 2| Sroub PT 40x16 K-TORX 614427
18 66592428 2 | Pérova vlozka MP 050
19 66625249 2 | Drzak kartace MP 050
20 66627010 1 | Kartace sada EBU 15 B
21 66591933 1| Kapota EKK 35-S
22 625545 4| Sroub 4x25ECO-SYN TORX BN842 614332
23 614463 2 | Sroub M6x20 761451
24 614475 2 | Podlozka M6, DIN 7349 592728
25 66621261 1 |Pfiruba EPK 16
26 647478 1 | Pilovy kotouc 160x2,2x20 18WZ (Prisl.) 614111
27 66621260 1 |Pfiruba EPK 16
28 614841 7 | Sroub M4x12 K SF WN 1352
29 66624259 1| Kryt EPK 16 D
32 66620704 1 | Rozpérny klin EPK 16
33 614469 1 | Matice M6 DIN 934 615422
34 615071 1 | Pojist.krouzek 28
35 592208 2 | Podlozka EPK 16
36 66624258 1| Pohyblivy kryt EPK 16 D
37 66594273 1 |Pruzina EPK 16
38 614841 4| Sroub M4x12 K SF WN 1352
40 66595387 1 | Loziskové viko EPK 16
41 66624731 1 |Tésnéni EPK 16 591815
42 594439 1 | Tésnici krouzek EPK 16
43 592700 1| Podlozka EPK 16
44 66614967 1 |Jehlové lozisko RNA 4900
45 66592701 1 | Vyrov.podlozka EPK 16
46 66591548 1 | Vyrov.podlozka EPK 16
47 66637376 1 | Vreteno EPK 16
49 614860 1|Sroub M5x25 K SF WN 1352
10.8.2016 Strana2z3



778198 - EPK16 D

CD-ID: Narex CZ 2016_v14r01

Pozice |Polozka M noZstv Nazev Typ Poznamka :oﬁ:;oi‘:(:i
50 615433 1 | Podlozka 53 615434
51 615017 1 | Podlozka 51
52 66593472 1|Doraz EPK 16
53 66619554 1| Matice EPK 16 591260
54 66624257 1 | Skfin s krytem EPK 16 D
55| 66404968 1|Sroub EPK 16
56 633635 1 | Pojist.krouzek 4 DIN 6799
57 621000 1 | Kolik EPK 16 B FLX 592706
58 66594954 1|Sané EPK 16
59 66617938 1 | Vedeni dorazu EPK 16 B FLX upIné
60 614404 1|Sroub M6x20 DIN 603
61 66592718 1| Vedeni skiiné EPK 16 Gplné
62 615014 1 | Podlozka 6,4
63 66594987 1| Matice EPK 16
64 66404969 1 | Ru¢ni Sroub EPK 16
65 66592725 1 | Paralel. doraz EPK 16 (Prisl.)
66 66593250 1 | Prichytka EV 10-2
67 614336 2 | Sroub M4x14 PZV 614411
68 614325 2 | Sroub M6x16 PZV DIN 965 614429
69 66592716 1|Vlozka EPK 16
72 66594996 1 | Drzadlo EPK 16
73 614318 5 | Sroub M4x20 PzV, DIN 7985 614414
74 66615003 1| Spinac Kopp 2412.59
75 66592091 1 | Kondenzator EBU 12 591734
76 66404443 1 [ Navlacka ES 106 D
77 66406571 1 | Pohybl.pfivod HO5 RN-F 2x1 EURO 3m
78 592703 1 [ Kli¢ EPK 16
79 616048 1| Kli¢ 5 (Prisl.)

10.8.2016 Strana3z3



